Block 4 3rd Level Homework 
Algebra - Equations
[image: ]Section A (Remember NO working allowed!)
Q1	a)	12 + 7 x 4
	b)	How long is it from 0445 until 0820?
	c)	Work out the perimeter of a rectangle which has 
		a length of 70 cm and a breadth of 40 cm.
	d)	Round 15.97 to 1 decimal place
	e)	Write down two weights which together make 1 kg

Section B (Remember ALL working must now be shown!)
Q2	Solve the following equations:
a)	 x + 7 = 13		b)	8x = 96	c)	4x – 7 = 49		
d)	7x + 13 = 6		e)	9x – 2 = 5	f)	3x + 20 = 4		

Q3.	Heather is x years old. Rachel is 4 years older than Heather. Lee is twice as old as Rachel.
The sum of all of their ages is 72 years.
	Form an equation and solve it to find the age of Heather, Rachel and Lee.
						
								        2x + 3 cm
Q4.	If the perimeter of this rectangle
	is 22 cm, form an equation and solve it  					    x – 4 cm
	find the length and breadth.

Section C2x
x + 3

Q5.	A train ticket costs £38. Prices are to increase by 15%. 
What will the ticket cost after in increase?

Q6.     Craig drove his van for 6 hours and travelled a distance of 270 miles.
[bookmark: _GoBack][image: MC900238371[1]]      	What was Calum’s average speed?	2x
x + 3
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